REDISPAN STV

++/32/(0)3/240 11 30

- ++/32/(0)67/41 12 41

©Z=Redirack

Each frame has 2 reversible uprights and a number o
feet (steel) after assembling the frame (fix with 1
The uprights sleeve (for the height 4000 mm) slides
4,8x19 (1 in the lower upright and 1 in the upper u

f horizontal (C) & diagonal (D) bracing. Assemble

selfdrilling screw 4,8x19).
into the upright and is attached to the upright wi

pright) on the side of the upright. The 90° steel

as shown.

Insert the

th 2 selfdrilling screws
base is slided into the

stv02b/5-17

VERTICAL STORAGE FRAME
VERTIKALE LAGERUNG RAHMEN

straight upright, the slanted steel base is (are) s lided into the slanted upright(s). Itis advisedt o fix the steel base to the floor <300 —» <+ 200 »
(anchors are optional). Insert the beams with aha  mmer and secure with 2 safety pins. — 7 — A E
Jeder Regalrahmen ist aufgebaut aus 2 Saule (umkehrbar) und Horizontal (C) & Diagonal (D) Streben. Montieren Sie wie angedeutet.
Stahl Fus setzen Sie nach Montage des Regalrahmen (festzetzen mit 1 selbstbohrende Schraube 4,8x19). 450
Der Rohrmuffe (fir die Hohe 4000 mm) gleiten Sie in die Saule und blockieren Sie mit 2 selbstbohrende Schrauben 4,8x19 (1 in die 5 = -
untere Saule und 1 in die obere Saule) in die Seite der Saule. Der 90° Stahl Fuss gleiten Sie in die rechte Saule, die schrag Fuss(e) o
gleiten sie in die schrag Saule(n). Es ist bevorzugt der Fuss in die Grund zu verankern mit Ankerbolzen (verfligbar separat). Balken E‘ | 650
montieren mit ein Hammer und sicheren mit 2 Sicherungsstifte. 200 M A rzoo _,‘ ’]‘/ \A
preferential position for beams p—— 250 . C5 — o5 — —
Vorzugsposition der Balken _
/;," beam X2 4 150 200 :‘ 650 r‘ L D4 450
%/ T50x30 or T70x30 L _E‘ / S
r Balken 550 = C4 —[] 100 c4 0 c4 —[] 00"
T50x30 oder T70x30 ’]\ . S
M6x10 : use the 6,2 mm 100 E‘_ C4= D3 450 D3 D3 Y450
perforation 6,2 mm / bitte die 350 ,\ D3 [‘ N 8 \l] N
® 100 100
6,2 mm Lochung gebrauchen o N — 3= | Ioo c3 ;‘ — 371 | oo
M6x10 can be replaced by H& % c3 yd yd
4,8x12 rivets using the 4,9 mm I ~ f‘ b2 450 D2 [] D2 450
perforation / M6x10 kan ersetzt 350 [‘ D2 \] & Ol 0o [ [—
werden durch Klinknagel 4,8x12 —T00 o2 C2=/ | Ioo A C2 ] 2=/ | Ioo c2 Y
in die 4,9 mm Lochung. 100 \ [‘ [‘
' 350 D1 ~ D1 450 D1 \ D1 450 D1 \
v 150 C1 C1 v 150 , c1 C1 v 150 C1
<4+— 450 —» - <4—600 —» <4+— 500 —» -/ <4——700 —» <4+— 600 —» -/ <4—900 —»
C/D ﬂ tvpe — 2500st/ez 2500dt/dz 3000st/ez 3000dt/dz 4000st/ez 4000dt/dz
C D C D C D C D C D C D
1 381 489 521 596 431 591 622 728 535 671 820 888
2 sf = single sided 326 485 433 529 366 589 513 649 486 668 706 793
3 df = double sided 272 419 346 470 302 515 405 579 437 601 593 704
4 - - 217 258 237 297 389 606 479 623
5 ez =einseitig 162 170 172 188 340 365
6 dz = doppelseitig 291 251
7 258 173
M6x10 {“@ 16 16 16 16 22 22
uprights sleeve/Rohrmuffe 2 2
4,8x19 selfdrilling /selbstbohrend 2 2 2 2 6 6
90° steel base / 90° Stahl Fuss 1 1 1
slanted steel base/schréag Stahl Fuss 1 2 1 2 1 2

www.cornix.eu - www.redirack.eu



